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To use all four operations to solve problems involving ‘real life’.  To choose appropriate operations and calculation methods.  To explain methods.  To use a calculator effectively.

1. A drink and a box of popcorn together cost 90p.  Two drinks and a box of popcorn together cost £1.45.  What does a box of popcorn cost?

2. I bought my flat last year for £40,000.  The value of my flat increased by 12% in September and then by a further 10% in January this year.  What is its value now?

3. At Alan’s sports shop, GO FAST trainers cost £40.95 originally and there is a third off in the sale.  At Irene’s sports shop, GO FAST trainers cost £40.00 originally and there is a discount of 30% in the sale.  Which trainers cost less in the sales?

4. Mr Matthews needs 255 booklets (one each for all of the children at Craven Primary School).  Each booklet weighs 48g.  How much do the 250 booklets weigh altogether?

5. (a)
Craven Primary School buys a box of apples which costs £1.42 per kilogram.  An apple from the box weighs 150g.  Find the cost of the apple.


(b)
If children at Craven Primary School pay 20p per apple (150g), how much does profit/loss does the school make per kilogram of apples.
